
Answers: Life in the 12th Century- Reading Comprehension Year 3  

1. 20th century / now 

2. 50 years 

3. Disease, famine, travelling, child birth/infancy, bad weather 

4. Around 1160AD 

5. Henry II 

 

I: There is less forest now. They may argue that the greater population now 
means the country is too crowded. Accept this point with suitable reasoning. 

V: Increased significantly 

V: Barely 

E: They are now all illnesses, one of them are to do with things like weather and 
lack of food or shelter. 

S: Any summary that uses the data in the sheet as evidence should be accepted. 


